D1viSION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Name:
Time: Score: /—
181 19887 + 10 = 196) 9083 + 3 =
182) H83TT + 9 = 197) HA8T =+ 2 =
153 35955 + 6 = 198 24406 = 4 =
151 25003 -4 = 199) 44553 + 10 =
1) 9652 + 1 = 2000 47869 +~ 7 =
156) 13784 + 3 = 20n 21131 =3 =
187 44333 = 5 = 202) 13023 =9 =
159 24070 =+ 6 = 203) 43666 + 6 =
189) 27498 = 3 = 20) 25317 =+ 3 =
190) 25332 + 3 = 205 5334 +2 =
9146950 =+ 6 = 2000 1179 +1 =
192) 56198 =6 = 207) 37852 + 7 =
193) 19388 + 6 = 208) T437 + 2 =
194 46528 + 9 = 200 40761 + 8 =
195) 42775 + 6 = 2102640 +4 =
Mathematics: Division - Level § - Horizontal - Set, 4 8 cul
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